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BCA IV SEMESTER [MAIN/ATKT] EXAMINATION

MAY - JUNE 2025
COMPUTER SCIENCE

[Optimization Techniques]
[Open Elective]

[Max. Marks : 60] [Time : 3:00 Hrs.]

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]

This Section contains Multiple Choice Questions. Each question carries 1 Mark. All
questions are compulsory.
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Q. 01

Q. 02

Q. 03

Feasible solution satisfies -

a) Only Constraints b) Only non negative restriction
¢) Both (a) and (b) d) None of these

aer wHETE e @l FHIAT & —

a) I T B b) DA EUHS e &l
©) (a) 3R (b) THI d) SRIK § H PIg T8
What is the fundamental concept of duality in linear programming -

a) Maximization vs Minimization b) Feasibility Vs Optimality
¢) Primal vs Dual problem d) Linearity Vs Non linearity
N ARAMRT § 89 &7 ol SR AT 8 —

a) STIHAH vs IATH b) IR vs SR A

¢) URM® vs god THRT d) IRgT vs IRy

North West method is used to solve which problem -

a) Assignment problem b) Transportation problem

¢) Simplex problem d) None of these
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a) 3MNISHC HHH b) URTET A

o) Rrgoiew e d) IWRFd H F DS T2
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Q. 04

Q. 05

PERT is based on -

a) Deterministic time estimates b) Probabilistic time estimates

¢) Historical data d) Cost estimates

PERT ameniRa 2 -

a) = w9g b) UIIE THI A

o) ViR aridg d) R A

A game in which the gain of one player 1s exactly the loss of another is called -
a) Co-operative game b) Zero sum game

¢) Non zero sum game d) Symmetric game
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[Section - B]

This Section contains Short Answer Type Questions. Attempt any five questions in this
section in 200 words each. Each question carries 7 Marks.
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Q. 01

Q. 02

Q. 03

Q. 04

Q. 05

Explain the concept of linear programming problem ?

Neges WUTERT BT TIROT BT AHIATSY 2

Distinguish between slack and surplus variables ?

e SR ARy | SR g ?

Explain duality in linear programming problem ?

R g T § 2 B 9HEsy P

Write the steps involved in the least cost method for finding an initial basic
feasible solution to a transportation problem.
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Explain Vogels method for solving transportation problem.
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Q. 06 What do you mean by project evaluation of review technique ?

giolde SaeqUed Ud Reg T &1 7 o7 2 2

Q. 07 Explain graphical method of solving 2 x n game.
2xnEd Bl BA B B s O w1 wHssy |

Q. 08 Write the definition of competitive game, saddle point, value of the game
and payoff matrix.
WeicAs W, dsal favg, Wl &1 919 ud raE Higad 1 gRemr &l
TR |

[Section - C]
This section contains Essay Type Questions. Attempt any two questions in this section in
500 words cach. Each question carries 10 marks.
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Q. 09 Solve the linear programming problem by simplex method -
fr=tferRad IRae YR F9T $1 ol 98 gRT 3l o~ —

Max z = 3x; + 2x;

Subject to constraints
E2ENCIRC AR

X +tx <4

X] — Xy <2 and

X1, %20

Q. 10 Construct to dual of the problem -
AR B g BT EIO B —
Max z = 2x; +3x7 + X3
Subject to constraints
R B I
dx1+3x) +x3 =6
X t2x +3x3 =4

and  x;,x.x3 >0

P.T.O.
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Q. 11 Solve the transportation problem using North-West corner method -
SR e @1 I &7 SUIRT FR gRaET TR Bl B PN —

To
1 2 3 Supply
From | 2 7 4 3
2 3 3 1 8
3 5 4 7 1
4 1 6 2 14
Demand 7 9 18 34

Q. 12 State and prove Kuhn-Tueker necessary and sufficient conditions in non-
linear programming.
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